MENTAL ABILITY TEST
oA ¥ T 100 WFT ¥ | TS T Th 3AF = T
THERE ARE 100 QUESTIONS IN THIS PAPER. :
EACH QUESTION CARRIES ONE MARK.

Questions | 1-8)

[ .
f ﬁﬁ@lﬁsﬁmﬁ@m-aﬂﬁﬁﬁiwﬁﬁﬁﬁ%mmm
: ¥\ 7E ve 39 Aon & A ¥ T AR faehed F ¥ o 1w ey g

o
’FF(?)
ﬁfﬂf

iqan &0 each of the Question Nos. 1 to 8 a letter series is given with one
Inst“;’issing shown by question mark ( ? ). This term is one of four alternatives given

.rit, Find the correct alternative.

3 g T

. und
A,D,I: .-2— ' Y.

o R 2P @ N @ T

2- YX, UT) QPI ML’ —?- "

L

1) H 2 JI @ HG .  _# H
. ACF,GIL, 2, SUX. # : '.
(1) NPS g/mma B MNQ (4) MOQ
4 YB,WD, UF,_? ,QJ. T N
MH 2) TI @ RH (4 HS
® ABC,EFG, UK, _2 ,UVW. , gy B8 o §
B TINO (2) POR - (@ oOPQ 447 QRS

6. ABCD, BDFH, CFIL, ? , EJOT.

() DGKO () DHMQ WLP (4) DIKP |
h DHLPT. 2. : B R | JE
W A R, @Y - W

8. ZYAB, VUEF, RQUJ, ?. ,JIQR.’ et 2 |
(1) NMNM - (2) MNMN ; 2 (3) MNNM MMN

NTSE()/ 19-MAT-410-A [ B
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\

; MAT-1

: yv (9-16)/ Questions (9 -16)
%

'\ T ST |

Instruction : In cach of the Question Nos. 9 to 16 a number Series 1S given with One

term missing shown by question mark ( ? ). This term is one ‘of the four alternaltive3 '
given under it. Find the correct alternative.

|. \ M \ 1L R
9. 1T2felist 2 |56,

:. M C @) 40}

\

L ! \ )
; 10. 100,750, 331, s, 220, 2.

(1) 15 ) 1631-
; B U S5 3
| - 11 17, 16, 8, 2, -83.
i (1) -1 (2 -8

71 '}1—1 Wiy 33 0‘(-
12.'6, 24, 60, 120, .

S 180 “ (%) - 195§

\ . -‘-15 _% - |
13 49,64, 56, 5763, 2, 70,43,
TRLBE R I R~ ST Y.

(1) 64 2750

L il S

14 4,13731,67 3. s
g LB
- 139 - @ 103
! %9 4 o N 1P 411 I |
15, by 1*12@;5”_3, 2,091
(1) 11 T
‘_q ﬂv}.; 5 ‘ )
16. 3,24,81, 5 375, 648.
(1) 128 = (2) é56.

NTSE(I)/19-MAT—410-4

TN

\h
e — o =

- 26.
(4) 225,
4 67,

"(_4}  169.

@) 14,

. A8, >
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(S)

_ 19)/ Questions (17-19)
(

. MAT-1

- g ma@muﬁ19ﬁmﬁﬁmaﬁtmﬁﬁmﬁé1wn%|ﬁ&w&maﬁ
;ﬁiﬂaﬂm%qﬁqaaﬁwaﬂﬁﬁﬁﬁwﬁﬁﬁﬁ%lWﬁWﬁWWw

u.m%ﬁm/aﬁﬁéﬁﬁnﬁmuﬁwﬁwwﬂmw%lwﬁtaﬁ

lnS"“
I "ln

ction Question Nos. 17 to 19 have two statements and two conclusions
411 You have to assume the given statements as true even if it seems to vary to
monly known facts. Read all the conclusions carefully and decide which of the

Concmsmns logically follow(s) from the two given statements even disregarding

S‘ ven only known facts.
1?. 0 @ 9 W UE E
- @) @ of g U T
e M : F9 AH TN
any ol g am §)
(1) WWIWW%
(2) e FTEY 11 SR T &
(3) 2 e 1 R 11 SRR e §
(@ 7 e 1 iR A e 11 SR e €

Statements: (i) :  All mangoes are trees.YV&
(i) All oranges are trees e .
Conclusions : (I) : Some mangoes are oranges. /
() : Al oranges are mangoes’”"

(1) Only conclusion I follows.
(2) _Only conclusion II follows.

Both conclusions I and II follow.
(4) Neither conclusion I nor II follows.

18. WU : @ ¢ g I W o g
@) : EWEEIER
et 0 : e
am et ol g TR ¥
(1) ol ford | SREROT IR Y
(2) oot Freme 11 SERO HE ¥
(3) QW foreed 1 @R 11 SFTER H
(@) e P 1 o g Frend 11 TR s &

NTSE(1)/ 19-MAT-410-A

[ P.T.O.
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MAT-1 (6) . s
Statements : (i) Earth is smaller than Moon.

(i) Moon is bigger than Sun.
Conclusions : (I) Sun is bigger than Earth. >

(I) Earth and Sun are equal..—
(1) Only conclusion I follows.

Only conclusion II follows.

t] (3) Both conclusions I and II follow.

§ (4)  Neither conclusion I nor II follows.

i gy () : T THHE T

| (i) : To A faumey €
e () TO 9 fouem §)
m : Fo foumE mee §)
{ (1) et PRy 1 SRR YT §

L: (2) e TSR 11 SFEROT S §

|

@) @ e 1 3R 11 SR e ¥

- ]

(2) Only conclusion II follows.
{3 Both conclusions I and 11 follow.
(4)  Neither conclusion I nor II follows.

% 20, 1 7/ @i 3 e i, JUT AR TS B W w7 N W e 2
' Which of the followm

f (4) = frswd | @R A 8 s 1 st s

:f Statements: (i) Some houses are vehiéles.‘tUE @
: | (i) Some vehicles are schoolstV €

E‘ Conclusions : (I) Some houses are schools.~—""

b (1) Some schools are houses s

t:' (1) Only conclusion I follows

|

g Venn dlagrams correctly represents France, Europe and

Canada?

e=11

i 3 @

WOJ o
‘ NTSE(I]/ 19-MAT;410—A
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(7) MAT-1

ﬁqﬁﬁﬁqmé‘—fm@mﬂ TR @R EER Y el ®9 7 WGRI R ¢ 2

1.
; which of the followmg Venn diagrams correctly represents House, Kltchen and

Bathroom ?

o (©

" o § QT O ARG I I, ST 3R e Y HE W H R A € 2

Which of the following Venn diagrams corrcctly. flepresents Uttar Pradesh, Agra .
and Taj Mahal ? ' :

o.

23'_'. N T KIS i +',"='$'_r'|3195r'><'3ﬁ1_'@'mm‘r'ys’r.?ﬁ,

7= 4<8= 3>39@3$rnmwﬁm7
If '<'means' - "s'means '+ "' =" mcans x ' and '@ means '+’ thenwhat
_ ' 3¥3083 ? - 3 = el t\3 2§ - _aMt3
(1) 10 o 17 . (3 39 4) 52 “el)
%. s el e W ¥ 'ACE! H1 11925 e 'BIG! #4814 fora S ¥, A I Fe
ﬁ'DOG'ﬂﬁW%@WﬂW? | g 0 '

In a coded language, 'ACE’ is wnttcn as '1925' and 'BIG is written as '48149'
then in the same language, 'DOG" w111 be wrltten as b 22549

(1) 41549 ,(21422549 (3)' 162259 () 42249
@ o freit e v A .SHOULDER' ¥ "TJSNMAGZ' 71 'BOXING' %! 'RSYCPH' ferel
S &, o 5 e W A HORNH#W%@TW? ¥ SL
+ S av

In a coded language, 'SHOULDER' is written as- TJSNMAGZ' and BOXING' is .
writt: s 'RSYCPH', then in the same languagc "HORN' will be written as
JSZP (2) JSNS (3) JNZS . .(4) JZSP

NTSE(l)/ 19-MAT-410-A | @ [P.T.O.

ABEDEES HITU LHNOPAR
et > v wkYL
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MAT-1 (8)
R @1 'REGIT' 7@l vy 3

. 1 %' 'TIGE
26. U& F© WINT H 'CALLED' &I 'DELLAC et STt

. ?ﬂ'aﬂT ?
A THH 9T # 'NORTH' St F1 ferl : + and 'TIGER' is wri
In a coded language 'C SS: is written as '‘DELLAC" an WIitten o4

: : HT Ren

: ten as

'REGIT, then in the same language, 'NORTH e be:nt. " (4 HTRON '.
(1) PQSUK (2) PTTVL (3) HTOR

. 27. ﬁ&nﬁmﬁwwﬁﬁ.ﬁrwnﬁﬁnﬁﬁlmﬁqm%ﬁ““ﬁ@ﬁﬂm
5 :; T ‘TEE’ a2 | |
' wo . el e e e e |
w S ﬁ,maﬁ#quWWW%'
| i) ﬁﬁ,aﬁwﬁmﬁmm%'
(1) e o 1 vae E |
| (2) EA TH I VG §
- (8) k1A IvE §
i SN ah’ia%:aﬂtnwak%i

In the given question, a statement is followed by two arguments I and II. You
have to decide which of the following arguments is 'strong’ or 'weak’'.

- -

TR

Statement :  High chimneys should be installed in industries.
Arguments : () Yes,it reguces po]iuﬁon at gfound level.
' . (I No, it increases pollution in upper atmosphére,
(1)  Only Argument I is strong, i
(2)  Only Argument 1l is strong,
Both Arguments I and II are strong.

(4) Both Arguments I and II are weak.

28, A ST 7 STt T S e

- @) 10
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(9) |
A TR ST i st s i

petermine the number of parallelograms in the follo

" ng flgurc '
W ¥ ?'-:%‘\ “‘ $X2 x L)
’\/‘t‘ -]/ﬂ A _,,,..\\-T" ? l_.

18 4 19

A (30—3311Questions(30 33)
Pt : T W 30 R 33ﬁﬁﬁm§%wwww%ﬁwmw_mmﬁﬁ
msfa#m"faﬂtﬁl :

nstruction : In Questions Nos. 30 to 33, ﬁnd the correct mirror ima
figure, when mirror is placed on right side o :

{ the figure.
30. WH-3FHT/Question Image ITR- 3/ Answer-[mage

A NN K

L~

(1) 427 @ @

31. W‘aﬂ?% /Question Image W-W/Answer-lmage

NN (A A [

' ¥ e )

- 32, QUALITY : " i o )
() - ONVFLA  (2) YTILAUQ YTIIAUQ (4) YTLIANQ.
33. 247506 . : -

() 695742 (1) @3BVAS (3 2D ey deeree

" (34 -37)/ Questions ( 34 -.37)

PR+ e v 34 @ a7 o A A mmﬂﬁmuﬁﬁwmﬁﬁm
Imlh'uc:tit:on
figure,
34, , | '
:?:;M IL:VWIJA () 'hWﬁ'IA (3)  EVMITX 4y EVINITA.
35. NhRqSy ; s “ }‘. _ - '. d .
3) upyde 4) nyrde?,
.Uf)/}ﬂﬁda}‘ (2) NPBYC (3) ]-@ (4) s
‘ - . [P.T.O.
NTSE(I)/19-MAT-410-A " | | |

: In Question Nos. 34 to 37, find the correct water-image of the given
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MAT-1 (10)

36. R-#AhIeT/ Question figure IR~ 3FHTaT/ Answer figures

—

|

(1) @ (3)
37. ,W-W/Question figure '

ST-3HTaT/ Answer figures

(1) | @) (4)
ITFT (38-41)/y Questions (38-41)

e ﬁ%ﬁﬁmmasﬁuﬁwmwﬁﬂnﬁ%mvl’r%ﬁ(ﬂm%ﬁgé)w‘
aﬁ?a@ﬁrﬁ%_lmmﬂﬁanﬁﬁq%m L B R

Instructiqn >In the folloWing Question Nos. 38 to 41, thel

Te is a question figure, which
= is embedded in one of the answer figures. Trace out that correct figure
38 ﬂ?‘rT 31’@%[/ Question ﬁgure 3 IW- W /Answer ﬁgures
_ =g -
= -

39. 1»'i?‘??i'-37'?&-[/Qm=:stion figure

. . -_ {1}
40. HE’?T-SJH?% /Question figure |

L

NTSE(I)/ 19-MAT-410-A"

(1)
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(11)
MAT

e /Question figure IWR- o
P Jﬂfﬁ EAEATE / Answer Bitites

g % Eﬁﬁ\ _\: W ‘.i
| | W@ @ Dﬂ\
which

of the answer figures will complete the given matrix figure ?

(1) (2) J'})/ (4)
ﬁqmmﬁaﬁﬂﬁﬁﬁwmﬁwm ?

which of the answer figures will complete the given matrix figure ?

? ' ' NG
| Y (2) B (4)

7A (44-4T) | Questions ( 44 - 47)
fw @mﬁﬁﬂwﬁwﬁzﬁ@ﬁﬁﬁmw% ﬁﬁﬁﬁi@ﬂ?a@%ﬂtﬁ?w& & s
maﬁmﬁﬁaﬁﬁmmﬁﬂﬁq@r%’nﬁv

arent sheet with a pattern is folded along the dottéd line.
d after folding the transparent sheet ?

Instruction : A square transp
Which of the following answer ﬁgurcs is forme

4. TRaEl T/ Transparent sheet Fw-fas / Answer figures

W?ﬁ UH /Transparent. shect '

‘ l [1.}.... I

NTSE(l)/ 19-MAT-410-A

EE
I
\

S\

[P.T.O.
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MAT-1
46. gRES 99/ Transparent sheet IaL-fas/Answer figures
A == (=23 |BE rzzﬂ
g L
/(,H/ (2) (3) (4)
‘.}7. WRT\"ﬁ U/ Transparent sheet I-fa7/Answer ﬁgurf:s
T — :
- [ . /
L 1 " A /1
: Y (4)

7 ()

WS (48 - 55) / Questions ( 48 - 55

)

};]/ .

(3)

- WF@H48@55Wﬁﬁﬂ}%ﬁW%IWWWm®WW |
-ﬁﬁ%lmﬁawmﬁ@%aﬁ@r@@%imaﬁ?ﬁa‘rﬁﬁwﬁ'@ﬁam -

T AT &, A Tr-TeE B SHER S St A W | aﬁmﬁiﬁgﬁﬁ
Instruction : In Question Nos. 48 to 55, there are two sets of figures. One set contains

problem figures while the other has answer figures. There is a sequence according to
which the problem figures are arranged. You have to select an answer figure which can -
be added in sequence with the problem figures. Choose the correct answer figure.

IW-TT/ Answer figures

@9=-fa/ Problem figures

- 48. |
@ B (© (D)
49.. GAE-f99/Problem figures
7 [N
M | & 2| E
@A B (@ (D)
S0. W-ﬁﬁ/?roblem figures
N Nn_|_N "
L
CU_D- Cn:) CnC Cn
a @ © O

NTSE(l)/ 19-MAT-410-A

K

*

K

A

S

(2) B) @

SWR-T99/ Answer figures

W

«E_«mﬁ

(1)

AT (@)

(2)

Io-fa/ Answer figures

N XAl U

¥
D{‘\C

Y
>

B
ﬁCDC

(1)

(3)

|
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@+ B © O

53. @@t /Problem figures

iy

@ ® © O

54. Hﬁlw?ﬁ'ar/ Problem figures -

O [

W ® © '(D_]__

'_55.' wHe-fas / Problem: ﬁgurlas

: -+ +
: = 4 |= _.
) e

I -9/ Answer figures

.

SO

g2 @ @

:

I -ToF/ Answer figures

OO O

o @ e @

- IW-ToA/ Answer figures

M| UL|Uu i
m @ @8 @

E?R'-%ﬁ-/ Answer figures
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(14)
MAT-1
o {57—60) / Questions(57—60)
& ¢ Fre I H A Yok ufey -
A BF T BH T C*W’iﬁD@ﬁ?wHﬁ E®| F, D & 94T &

¥ G F MR WA TS 57 ¥ 60 1 37 A

Read the information given below carefully :
Ais the son of B. B's sister Chas a son D and a daughter E. Fis maternal unclc of D.
Answer Questmn Nos. 57 to 60 based on this information. W

57. A® DA R TEYE 7 s;:f'Bi"‘;\Cg\:?:#F
How is A related toD?
J,L)/ F/ Cousin - (2) eI/ ST/ Nephew
+ - (3) Q?I':%/l_i’.rother _ : - 4) "ﬂﬁn/Uncle. |
58. EW FRRITEY Y )
How is E related to F 7 _
(1) S &/Sister R (2;' qﬂ;naughfgr
Mﬁﬁﬁ / Niece o (4) U/ Wife.

59.  F% $of et st/ § 2
- How many neﬁhews does F have ?

m o @1 B2 @

60. B‘em FREIqegE 7 -
How 1s Brelated to F 2 ' BV _ .
((/r/ m%/am/(Bmther/slster} ) Q%/Husb:'fnd
(3) ﬁ:m/pathe'r v ; (4) a?ﬁﬁ/(:ousm

1. A, B, C3R D= @t ¥ CAeﬁtD BYIZRR §1 D, céaf:rqhﬂréar%, CH
- a‘e’qﬁﬂwﬁwﬁaﬁ?%a’rswga%ﬁﬁmﬁaﬁt%a &

A, B, C and D are playing carrom. C, A and D, B are partners, D is to the right of_-
% C. Cis facing west. Then, Bis facmg which direction ? .

m /North FR (2) #\&TUT} South ' )
' @) R/West. 3
s

TSE()/19-MAT410-A ')5‘, D \>
. r\ )
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MAT.1
go. 6 T T T, S R, SR o o
7l WHR ‘I T T FRT [ 2
If 'South-east’ is called 'East’, 'North-west' is
called 'West', .
'South’, then in the same way, 'North' will be called as es South west' is calleg

(1) TE/East (M (2) ST-Yd/North-east

| 7%
M-W/North-west (4) qﬁﬂq/West.
63. Fr1 & w-ar 3 s e, foe 3 Sy 1 W v o e w d

- Which of the following Venn chagrams correctl
doctors ) _ y represents Males, Fathers ang

(11 2wt _

W (64~-67) / Questions ( 64 - 67)
- fiw: aﬁﬁﬁm}ﬁa%wwwmmﬁe?ﬁm%wﬁﬁm

Instructlon Answcr Quest.lon Nps. 64 to 67 based on the dlagram given below :

4

M Tl i o 7% . e i .

\
‘.

. o ¢ CG% BD '\w»*\‘l"bﬁ

wDW&“N\

Wﬁﬁﬁﬁvﬁuﬁwaﬁﬁﬁaﬁmﬁmmﬁ,wmaﬁvﬁaﬁwwﬁﬁﬁ
el =Bt weeTe e ¥ ~

In above figure, trian
women and circle shows educated women.

wwﬂ;pmzﬁmqﬂw aﬂ‘{ﬁ’rﬁ%‘aﬁmﬁﬁmw% ?

employed and rural women are reprcsented by

2 E @) F M

gle shows rural .women, rectangle shows unemploycd

Educated

(1) D
[P.T.O.

ITSE(1)/ 19-MAT-410-A
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(16)

MAT-1 ]
p fFa! SRR #Xar & 2

what does D represent ?

(1) fofesd amiior sikS /Educated rural women
/(})/aﬁﬁﬁ , SR 3R] Ao #Re/ Uneducated, unemploy ed and r_ural e
(3) forfera TR 37Re/Educated unemployed women
(4) Tofea IR g 3RS /Educated employed women.
ferfre, SRR iR witor il w0 Forerd el Foar T 2

65.

66.
'Educated, unemployed and rural women are represented by
1) A 2 B 3 D ﬂ/{
67. ﬁT&iﬁﬂ'ﬂw @wﬁﬁﬁmﬁmﬁmhm% ?
Educated unemployed women are represented by .
4 GE.

(1) B,C (2 D,E J;)/EF

68. lﬁloo%mﬁﬁﬁmﬁm%a}4ﬁmﬁmﬁaﬂﬁ%mw4aﬁ$w

et ?
\ How many numbers from 1to 100 are there wluch are completely divisible by
% l?, 4anda]sohas4asdxglt? L b :
). -7 2) 10 (3) 20 M |

_\j"\

0"

”‘*( 69. ﬁﬁwﬁﬁﬁﬁmﬁﬁmm%ﬁﬁwwwﬁmm%?-
How many odd numbers are there in the sequence each of which is immedi:
followed by an odd number ? - e ol
5147398572631586385224649 R

Pl - 8.7 LTl B 6 @7
70. wwmaﬁ_aquwa%mammaammazﬁa%.wﬁ@r%

An integer is greater than 3 but less than 8. Also 1t is greatér than 6 but less

than 10. This number is equa] to , 7.3 w X% -
(1) 4 2 6 bl - - @) s.

49 OTH F FETH, A, 18#%«%37%11#3@#:%@7% 5
A has 18th rank in a class of 49 students. What i is his rank from the last ?

(2) 19 @B 31 . . 3

s

71,

(1) 18

E(I)/ 19-MAT-410-A
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(17)
Mar
fegeeR, 2002 St AFHER S|
g W17 , o, Tt 22 fgrg, 2004 Wt P e o
: day on 17%h December.. -
if it was Saturday cember,- 2002, then wh
9ond December, 2004 ? _ : al was the day o
e =
S
. 2 _,\‘\ 4/
(1) @HaR/Monday T R /Sunday
: : : fruq,
| . ¥ .
5] . QPR Baday . (4) WTEER/Tuesday.

7. qﬁﬁﬁaﬁﬁwwﬁmﬂﬁmm%ﬁwﬁa&ﬁmﬁﬁwww
R T ? 5.z

If number of days are not .considered, which two months in a yéar have same
calendar ? _

® 3 I ‘90 1o
(1) .S, S /June, October Silﬁﬁ, g/ April, November
. a8
e 3 Y| 3
(3) v, ﬂ'ﬁl’é/Aprﬂ, Jufy (4) IR, W/October, December.

74, o wE a8 25 TR B EAR ¥, 6 56 Ten § WaR # gt wen

'S L BN :
e If 25th August in a year is Thursday, then number of Mondays in that month is

m 3 @4 _B5 “ 6

75, ok (+) A (x), (=) FEEE (+), (x) FHA (=) 3 (+ ) FHA
[+)%'Eﬁ[2(_3+72-4x5-;“‘2]3ﬂ'qﬁm

If (+) stands for (x ), (~) stands for ( +), (x ) stands for (~) and (+ ) stands for

(““),thenvalueof[26;~<725_4f_5_;2]is bR g S
Q. 108 /‘ﬂes (3) 471 - (4) 488.
| ' | @ g 4 e§-3
76. ‘TﬁA+B>C+D3ﬁTD+A<B+C, 2%
g (v}
th - 26L— ¢tr
If A+B>C+D and D+A<B+C, then _ﬁ‘

¢*D - (@ A>D “-B>D.
o LHD DF¥NLP»+(C  [PTO

() D>B @

NTSE(I)/ 19-MAT-410-A
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pe°
75, FreAferaa St sreiqel s o saafud Hi :

£RO

L

- 80.

81.

MAT

Q)[_A Birth, B = Death, C = Funeral, D = Marriage,

"125 smaller cubes of same size, then how many cubes will have

(18)

ﬁgﬁﬁaﬁwaﬁzﬂ’rmﬁmﬁaﬁﬁm
1=, B = J, C = T §@R, D = @, E = = firer|

Arrange the following in a meamngful sequence :
E = Education.

- DEBC.
4y AEDBC °  (2) ADECB (3) AEBDC (4 AP

A = TG, B = A, C = W, D = AR, E = TR |

Arrange the following in a meaningful sequence :

A = Study, B_ Service, C = Ex_ammatmn,D Earning, E = Result.

(1] EACDB () ABECD  (3y ACEBD (4) AECBD.
Fﬂﬁmﬂﬁﬁ@aﬁﬂ-ﬂqﬁwmﬁaﬁmﬁﬁmm%luﬁﬁww%
125@%&#&%&31%7% it et T &Y 2 @R OX e T @ 2

A sohd cube of white material is painted black on all its surfaces. If it is cut into
two sides

painted black ?

1 32 M - (@) .42 .- -(4) 40

"mﬁmﬁmmiw%&@@maﬁmwﬁ279’:%.33?#@2&#%%1

_wﬁwwwwﬁﬁ#aﬁaﬁﬁmmﬁﬁa

A cube painted red on all faces is cut into 27 small cubes of equal size. How
many cubes are not painted on any face ?

M | (213_"(3)4". -'(.4)6. :
m@aﬁwmw%ﬁmﬁﬁﬂ%%lsﬁﬁwﬂawwaﬁqﬁm%?

The four different posmons of a die are given below Which number is on the face

opposite to 3 ?

‘@

f‘ +

| E(l)/ 19—-MAT—4 10-A

Scanned with CamScanner



| . (19) B

aﬂﬁ”m@mﬁﬁ”ﬁu*ﬁmmwﬁﬁm%““
?

our r different positions of the die are given below. Wthh numb
€r

@
r. ¢ ef

facc

is on the

pos1te to27?

@”

M 3; o
4 71ﬁﬁmﬁmmmwmé‘%ﬁmﬁsﬁg

- 2, 5, 6, 8,
o, T2 Cx 6 ; q,
forrer ®© ?
gl R R U i
How many two- -digit numbers can be formed from numbers 2,56387 1 such
that each number has digit 8 always ? | h | i
m 9 (2) 10 (3)/11/ - (4 12, g @
. ' 29
g AT et 1 i Y AT R I -

Determine the number of squares in the following figure :

@ 8 L @ 10,
8. vfﬁ:wm:qac—»ra'x-,_-—'amnaaa”‘+",’x'$_rnfrc-fra'-'3fh;'+-'wqa—ﬂa'w%,

i 7

| (36x4)-8%x4 o gmem
' 4+8x2+16+1 " _
I+’ stands for ' x ', ' —'stands for' + ', ' x'stands for'-'and' + ' stands for
(36:-:4) 8x4 : 9- =M g -
'+, then value of 1S i B
0 4%

M (2) . 12 )

8. BE F UF Ui H, Aaﬁﬁﬁwﬁw%ﬁsﬂaﬁaﬁww

maw%?ﬁqﬁﬁﬁwmﬁmﬂ%7 _
In a row of students, A is sixth from the left and Bis tenth from thc right. If there
en total number of students in the row is

are 8 students between A and B, th
(1) 23 _ M ' (3) 25 . (4) 26.

(+lo t§  jero

- MISEQ)/19-MAT-410-A o A-C
:. . g-lo _ @

%I;I%Aaﬁtgé?
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A [87—90)[Questions(87-—90]

%ﬂ:ﬁﬁﬁﬁ%%'mmmﬁwmﬁ%%#ﬁﬁﬁq:

jagram given below :

Instruétion : Answer Qu'estion Nos. 87 to 90 based on the d

71 A T Ak e e §, o B e Tt A e ) e &, g ¢ A
T et s Y R & A g D R @R ot s ) REr g |

Circle A represents men having TV, circle B rcpfesents men having scooter, circle
C represents men having laptop and circle D represents men having car.

87. e, A, AT UX] HR G T@H AT sl i fFg HEA | ST T Y ?
Men having scooter, TV, laptop but not car are represented by which numbér ?

(1) 4 2 7 @@ 1 12,

88. -Ww(mwaﬁ)r@#mﬁéﬂﬁﬁﬁaﬁﬁmﬁwﬁmw% ?

Men havjng-on.ly car (no other i_ter_n)l are represented by which number ?

,(Jf)/ 4 : 2 5 3) 6 _ @) 7.
89. qaﬁ@#ﬁ_mr’@%aﬁmﬁﬁﬁaﬁmﬁw@mm%; |

Men having neither scooter nor car are represented by which number ?

(1) 13 &aeT/only | % e (2) zéﬁﬁ/only'
@ s¥FEjealy . #r213s,
NTSE(I)/19-MAT-410-A. 2l | 0 , 3
1o : . _4 'S w
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ﬂ@gﬁqur@#mﬁw%ﬁﬁmﬁm@mm%? May,,

1_$aﬁ

aving car and laptop only are represented by which Numbey 5
o |
o (2) 8 @) 7 a5
(
e R el ¥, et e e o 4 ot i

s ‘circle’ is related to its 'circumference’, in the same way, 'square’ is related to
whxch of the following ? .

() T/ Volume - (2) &% / Area

p foo /‘Diagonal . _/(ﬁﬁmtr / Perimeter.

g @ R Ter’ 39 ﬁwﬁﬂaﬁm% ﬁmw ﬁ‘:fff@f‘ﬂl@

gt € 2

As ‘walking' is related to runnmg, in the same way, 'smiling' is related to which
of the following ? ' o |
() ¥6YE FTT / feeling (2). T / weeping

ﬁ)/swn / laughing (4) ‘%@FIT / watching,

% ey e T ¢ oT’ !}mﬁm% S TR o B d @ R

e ¥ - P
As ‘college’ is related to,its student' in the same way, 'hospital' is related to
Which of the follomng ? : : '
(1) Fﬂﬁh?\qﬁﬁ /Doctor _ MW /Patient

. 3 ¥
@) = /Nursel (4) e /Treatment,

“TSE(I '
)/19-
/19-MAT-410-A e
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W (94 - 96)[Questions(94 -96)

P« e W 04 % 06 (mﬁwrmmmuwawﬁamﬁﬁﬁmﬁ
R B qqu‘?ﬂﬁwl

In Questions Nos. 94 to 96, there are four figures given in each.
does not correlate with the rest of the figures. Select that odd figure.

One of

O

o

Instruction :

the%e ﬁgures

. é&g
(1)

Q35 0

i
(1) (@

- | 1l

()

ef .

(4)

W (97-100) / Questions (97 - 100 )

¥ : we 9E 97 aW 100 T H A fawew feet g @ wm g, Wwﬁmmﬁ
ST ¥ e el fawed I

Instruction : In Question Nos. 97 and 100, three alternatives are alike in a certain
way but the rest one is different. Select the odd one.

el /Radish
@r~ e Pea
98. (17 105¢

97.

(3)
(1)
3)

100. (1)
(3)

99.

NTSE()/1

(1) .

65
“jo{f‘é
A

e

eaici/Football -
gl /Hockey

9-MAT-410-A

(2) TR/Carrot

(4) YEH/Turnip.

(21 o

@ 1T
@ el
MFA S

/(zj/ﬁz'{'q /Carrom

(4) B/ Cricket,
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Roll No. TeT T

B e

A

s

411-B

SCHOLASTIC APTITUDE TEST
( For Students of Class X )

Time : 120 Minutes Max. Marks : 100
(For Blind Candidates Time: 2 Hours 30 Minutes)

INSTRUCTIONS TO CANDIDATES

Booklet Number

et @A

600561

vifires givgen oden
( war X % faafiat & fog )
T @ 120 fAe quTis : 100

( gfeed arvafigdi & e w7 @ 2 W2 30 72 )

witenteat & faw fwr

Read the following instructions carefully gy yfida @ieH ¥ et Fry frdent &t &= @

before you open the question booklet.

1. Answers are to be given on a separate
answer sheet (OMR sheet).

2. Write your Roll Number as allotted to you in
the admission card very clearly on the test-
booklet and darken the appropriate circles
on the answer sheet as per instructions
given.

3. There are 100 questions in this test. All are
compulsory. The question numbers 1 to
13 belong to Physics, 14 to 26 Chemistry, 27
to 33 Botany, 34 to 40 Zoology, 41 to 60
Mathematics, 61 to 71 History, 72 to 82
Geography, 83 to 93 Political Science and 94
to 100 are on Economics subjects.

4. Please follow the instructions given on the
answer sheet for marking the answers.

5. If you do not know the answer to any
question, do not waste time on it and pass
on to the next one. Time permitting, you can
come back to the questions, which you have
left in the first instance and attempt them.

6. Since the time allotted for this question

paper is very limited, you should make the

best use of it by not spending too much time
on any one guestion.

7. Rough work can be done on the given
Blank Pages at the back of the booklet
but not on the answer sheet/loose paper.

8. Every correct answer will be awarded one
mark. There will be no negative marking.

9. Please return the Answer sheet (OMR
Sheet) only to the invigilator after the
test. :

10. Hindi version of the questien paper will be
considered as final in case of any dispute
arising out of variation in translated version.

PLEASE TURN OVER THE PAGE AND START

YOUR WORK.

qfguw |

1.

R

10.

m? T IR T (o Wo Ao ¥iZ)
HEA T

mgﬂﬁm?ﬁngm H9EH WE¥ TH W
T &, FReeEr gt W oW
ﬁﬁaﬁaﬂ' N IA-UAF W memﬁagm
|
70 e § 100 WA ¥ | Tt vy afEd €1 9
w1 ¥ 13 e &, 14 9 26 T0E &,
27 § 33 g fawm, 34 ¥ 40 Wit a3y,
a1 | 60 7fora, 61 ¥ 71 3faETE, 72 § 82 :
83 | 03 VW foH T 94 § 100
forrat @R smaifia €1
_wﬁfgﬁrmﬁr?ﬁfmm-mwﬁﬂn&
‘ﬁmnwmﬁﬁaﬁm‘ml
Az o el s 1 IX AR Ad € Al 38 W
E'm_:ﬁaﬁﬂmmmgaﬁﬂﬁm
g 1 §g e foe e w1 IR 9ed
Eﬁsﬁmm,:ﬁwwmﬁmﬁl
Fiiw 39 v 93 % fon it g agd i
%,mmﬂm\maﬂﬁ&#ﬂ%ﬁ
Ty W Sgd §HE T AEE | :
% @ gRaE & #a ° fru e gel W
'r‘aﬁtr:r[ﬁw THal ¢ (e IAC-UAE /AT WA
T T |
TEE WA IO 1 UF 3% WeH fear S gw e
BT 3T el 6 |
FqaT qilen % A Fael IH-TAH (3o THO
o ¥ite) # Ffter® =t #eET
Eﬁﬁﬁmwﬁmﬁaé%ﬁtﬁﬁamaﬁ
A wor-ug & fe= faawor =t foias w=
ST

FUAT YIS Gl ST AYAT I FCH HIog |

BSER 2019

The copyright of the contents of this booklet rests
anybody in any manner whatsoever without the prior

with the BSER and no part of it should be used by

permission of the BSER. The items are prepared

on best effort basis. In case of any dispute the opinion of the experts appointed by BSER will be final.
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(3) SAT-2

Tiftre arrgan aen

SCHOLASTIC APTITUDE TEST
0 VAT § T 100 W ¥ | G WA TH 3 H |
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

( vitfees famr )
( Physics )
ot areq @1 STged TR el @
(1) ToeE R W ) & & o % W
(3) T % AR W (4) I % FAHH W |
The inertia of a body depends upon
(1) gravitational acceleration (2) centre of gravity of body
(3) shape of body Jj_)/rnass of body. FEY
T A 0T § TRl T SR 1 o-EEE s foe o el T €, Al 9w &)
3 YHvE F 79 W T I &
| 1 30
g 20
& 10
B 13 i

(1) 9O m (2) 45 m
@) IH. (4) 10m.

Velocity-time graph of a body moving with uniform acceleration is shown in the
diagram. The distance travelled by the body in 3 seconds is

P S

1

» 30 yowals®

= =

B solsccs s ,

? 10 === = . : \

2 o 3= "’Kgﬁ

e — - Time (s) g

PR RS wry
(1) 90m (2)—45m .
(3) zero (4) 10m.

NTSE()/19-SAT-411-B [ P.T.O.
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3. ﬁmﬁ%ﬁaﬁgﬁmﬁwﬁwa%mm&wmam

(1) FT () TF e

(3) = (4) 3 |

The distance between two masses is to be halved. The gravitational force between
them will be

(1) double (2) one-fourth

(81— quadruple (4)  half.

4. JHEI % Toed @R (g) o forw Frifea § @ we-ar e wd d
(1) Y T foed 99 W g %1 A gue &
(2) g HA Yol W Gyad o @i e i &
(3) g A foyad gv W e i a1der e §
(4) TH 9 FIE T |
Which statement is correct among the following for gravitational acceleration (9)
due to earth ?
(1)  The value of g is equal at poles and equatorial cricle
TQj/l'f‘he value of g is more at poles than at equatorial circle
(3)  The value of g is more at equatorial circle than at poles

(4) None of these.

5. ‘GFR’ 3f® e an m swmm e & 2

(1) &= aai (2 T Tl
(3) Uy ad (4) W T |
Which waves are used in the device "SONAR" ?
(1)  Audible waves 2~ Ultrasound waves
(3) Infrasound waves (4) Light waves.
6. U T 1 T 350 m/s TN TR 70 T &, A F0T F I ¥
(1) 500 Hz (2) 700 Hz
(3) 50Hz (4) 200 Hz.
The speed of a wave is 350 m /s and wavelength is 70 cm. The frequency of wave
e 3 }:S;j, H Q.%
J,l/ 500 Hz (2) 700 Hz \ O
: 50 Hz (4) 200 Hz.

NTSE(I)/19-SAT-411-B



(S)

SAT-2

7 e ) e & e S R 9§ e S A d 2

(1) WS 2 T I
(3) frpe gfee 3w 4) 3 Ju S |
Which defect in human eye arises due to the irregularities in spherical shape of
cornea ?
(1) Cataract
(2) Hypermetropia or long sightedness
(3) _ Myopia or short sightedness
Astigmatism.
8. U 3Tl oiF9 ! By Ut +40 FHT & A T S I & et
(1) + 4 SBAT (2)  + 25 TR
(3) + 40 SEHT (4)  + 25 SREIATRT |
Focal length of a convex lens is +40 cm. The-power of this lens will be
(1) + 4 dioptre {2y + 2:5 dioptre
(3) + 40 dioptre 4) + 25 dioptre.
9. Wfem-A T o giedl ud wiem-B § U T 3 Welld el i gHferd $iH W
HieH -A HIeTH-B
(@) SreeHRT i ——
(b) URT TETE R e
() Torga &= i) —O—
(d) I ol (iv) —wa—
T IW &
(1) () - (i), (b) = (i), (c) - (iv), (d) — (i)
(2) (a) = (iii), (b) = (iv), (c) - (ii), (d) - (i)
(3) (a) - (i), (b) — (i), (c) = (i), (d) - (iv)
(4) () - (i), (b) = (iv), (c) = (i), (d) - ().
Match the electric devices given in Column-A with their symbols shown in
Column-B.
Column-A Cflumn—B
(a) Voltmeter (i) o
(b) Rheostat RN e
(c) Electric cell ) ===
(d) Plag key (iv)

Then correct answer 1s

(1)  (a) - (i), (b) = (@), (¢) = (iv), (d) - (ii)
(2) (a) - (i), (b) - (iv), () = (i), (d) ~ ()
(3) (a) - (iii), (b) = (id), (c) = (), (d) = (iv)
(4) =)= (iii), (b) - (iv), (c) - (1), (d) — ().

NTSE(I)/19-SAT-411-B
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10. fr=ifwd d @ =9 e yrT sifw & am @ ¢ 2

(1) LR (2) §dt TeEm
(3) W= (4)  HTET I |
Which one of the following is not a part of Direct current generator ?
(1) Commutator Sliprings
(3) Armature (4) Carbon brushes.
11. @ 73 oRuw F 49 pfagei & Mo qeg wiemiy &
10Q

AAAAAA
Yy yy

10Q 10Q

B
10Q
(1) 40 Q 2) 40
By 50 4) 02Q.
The equivalent reistance of the given circuit between points A and B is
109
A
109 _ 10Q
B
10Q
(1) 40 Q ) 40
50 4 02Q.
12, U fErT 1 4 Yt @iod § 4 567 HF HT IS €, A (S 1 O Hadiw ¢
(1)  5x10% N/m 2) 5x10% N/m
3) 2x10% N/m 4) 2x10% N/m.

If 4 joule work is to be done in stretching a spring by 4 cm then spring constant
of the spring is

(1) 5x10% N/m 2f 5x10% N/m SR
& 2x10° N/m @)  2x10* N/m. um
. eSS
13, ﬁaﬁwwﬂwmwa@nwmaﬁﬁwqﬁﬁ% e
(1) AU o (2) CFL -
(3 LED (4) EEETE |

The electric device which is having more use time and less electricity
consumption is

(1) Incandescent Bulb (2) CFL : .
3 LED (4)  Tubelight. wepk

NTSE(I)/ 19-SAT-411-B
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18.

19.

20.

21,

22,

NTSE(l)/19-SAT-411-B

T ad X F TrRe F g xcg%,aiwa? SiraRTEE e

The chemical formula of dead burnt plaster is .

(1) CaSO4.-‘5H20 (2)  CaS0,4.2H;

@y caso,. |

.f'

(3) CaS0,4.H,O

¥

¥

1) X0, (2 X0 3

(3) X903 w2 N e Y
The formula of chl oride of an clement ?{is XCl, . The formula of its omde--‘."ﬂ__l be

1) X0, (2}, %08

(B"X203 .

foreAfettaa & 9 IqEEganTH oY gE 3 g

(1) H,O (2) HNOj

(3) BaCly ; 4) Cao. |

Molecule containing coordinate covalent bond among the following is

(1) Hy0 | A—+NO3

(3) BaCl, (9" 55Ca0- : |

9 v & oA BRI T RS S 1 AR A/ T &

) 1077 (22X 107 & %

@ 1x107% i k0° 3

Concéntzjation of hydrogen and hydroxyl ions in molch.re for pure water is
e Lo - ey @ 107 '

By 1x1071 (4 1x107°

Sex & ST H1 G I Al A €

(1) NaCl (2)  MgCl,

(3) Mg(OH), 4)  CaCl,.

The compound used for removal of acidity in stomach

(1) NaCl : (2) MgCl,
13y Mg(OH), ' (4)  CaCl,.

T e AT T e 1

(1) CaSO4THy0 () CaSO,.2H,

(3) CaSO,.Hy0 (4) CaSO,.




23.

24.

25.

26.

NTSE(I)/19-SAT-411-B

(9) SAT-2

Teferad stafran § Fererier fvd TR 1 SORE & ?
fFeraaier
2H,0, — 2H,0+0,
(1) YATHE IORF 2) HUTHS IONE
(3) I IIRF (4) @ IR |
Which type of catalyst is glycerol in the following reaction ?
glycerol '
2H,0, ey - 2H 20 +0,
(1) Positive catalyst 2y Negative catalyst
(3) Biocatalyst (4) Autocatalyst.
Frfeifad o | weifus sy B aen ad €
(1) L (2) Be
3) B (4) &
Element having largest atomic radius among the following is
(1)~ Li C T Be
3) B (4) %
A=A W1 3o Jo o To Ho AT &
(1) 2-Qf S @ I=A
(3) 2-Afue g2 (4)  2,2-SEEEA WU |
IUPAC name of isopentane is : )
(1 2-ethyl propane (2)  pentane =S
" (3) 2-methyl butane (4) 2,2-dimethyl propane.

UfheiFTEZIEel Sl 9Ee ©
(1) e (2) UicHfeATEe FARES
(3) UielaTEe HEAES (4)  UTCARTRRA |
The polymer of acrylonitrile is
(1) Polythene (2) Polyvinyl chloride

Polyvinyl cyanide (4) P;olystyrene.

[ P.T.O.

e ¢

s

B S

s

+ -

B Lo |
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27. 2 YA gRT QIS 74T HIREHT &

(1) &S (2) EEEm

(3) AEEEM : (4) TREHEE |

The cell organelle discovered by de Duve is

(1) Plastid (2) Ribosome

(3) Lysosome L[,4}/ Centrosome.
28. STAIRIYE & ITER &

(1) BIEige, 3T (2)  HHEA, FErder

(3) i, FEHA (4) Wi, feemer |

The examples of hydrophytes are

" Hydrilla, Calotropis - (2)  Lotus, Salsola

(3]‘ MOSS, Lichen (4) Segeltaria’ Trapa_
29. g FXcl g& WAT AT T 7 JTHRT HI AT Bl &

(1) Th @

3) dH @) 9 |

Number of male gametes in the growing pollen tube is

(1) one 42— two

(3} three (4) seven.

30. @HR H ¥4 %! v fafy €
(1) TFEH (2 ST

(3) e (4) o AT |
The main method of reproduction in Yeast is

(&1/ Budding (2) Sporogenesis
(3) Cutting a(4} Grafting.

NTSE(I)/ 19-SAT-411-B S



31.

32.

33.

(11) SAT-2

YRd § ™I Slenves Feag )t den &

(1) 18 (2). 118

(3) 142 (4) 669.

The number of biosphere reserves established in India is
18 2) 118

(3) 142 (4)  669.

R TRY % 1T 1 I S 3w R E 2

(1)  TeeRT (2) efEfeEr s

(3)  FXHH &AM (4)  UUR FETRTH |

The bark of which plant is used as medicine ?

(1)  Aloe vera _ (2} Terminalia arjuna

(3) Curcumalonga (4)  Papaver somniferum.

YR FINe STHYE Tl & YR STIReT STEYH 6 | fog av agon

& 2
(1) 1965 2) 1969
(3) 1975 (4) 1981,

In which year was Indian Space Research Committee changed into Indian Space

Research Organisation ?

(1) 1965 (2) 1969

“(3) 1975 ‘,{4)/ 1981.

NTSE(I)/19-SAT-411-B [ P.T.O.
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( wmuit famm )
( Zoology )
34, @y e I R | |
(1) ¥ (2) e aRfafea @) e 4) Toe g |
Bacterial disease is
(1) Dengue (2) Polio myelitis 131/ Tuberculosis (4)  Chicken pox.

35. TYOEGE! Ui FEeAdl § ,
(1) Toceiees (2) UdRTER 3) W  (4) fudimesw |
Honeybee culture is known as

(1)  Silviculture M Apiculture (3) Sericulture W Pisciculture.

36. faaifma-D & 0 ¥ 29 T AT &

(1) T (2) SO-=R (3) el (4) fhew |

Disease caused by deficiency of Vitamin-D is

(1)  Night blindness (2) Beri-beri (3) Scurvy A4 Rickets.
37. GER I TR G €

(1) A 1 SR e N (3) AB (4 B.

Universal donor blood group is
1) A _2r 0 (3) AB 4) B.
38. elcT YTl &

(1) @ ud e  (2) 3fEd we e
(3) fEa ud sAfa® (4) 3RfEd g sFfmH |
Skeletal muscles are

¥~ striated and voluntary (2) unstriated and voluntary
(3) striated and involuntary (4) unstriated and involuntary.

39. ST Qe o Il S & o
(1) Fefard (2) IHEEAEHAH (3) HEm H  (4) ARl H |
Water vascular system is found in
(1) - Cnidaria J,Q-)/ Echinodermata
(3) Mollusca (4) Annelida.
40. = § | -1 U fadgs oAl o 6 ¥ 2
(1) Sigarier 2) T (3) 3SR @) i |
Which of the following is not a secondary reproduetive organ ?
(1) Fallopian tube (2) Uterus (,31)(;)::1‘3! (4) Vagina.

NTSE(l)/19-SAT-411-B
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( wiforer )
( Mathematics )

41. T O @ afols dEm T ¢

(1) 2+45 @2 2
7 2J11
3 - s
(3) NG (4) s
Which of the following is not an irrational number ?
@) 245 @y - 42
7 | 2411
3 — 2Na
® 7 | Sy
42. US Sgug xt-ax? 4 %3 12x+1 Fl x— 1 ¥ 9O & W ITEA @
(1) o @ 1 |
8 9 (4) - 1.

If a polynomial x4—4x2+x3+2x+1 is divided by x - 1, then remainder will be
=4 4y xet :
(1) O i1
@ 9 4 -1
43. o sl W GE 3 W A 14 ¥ 1 Ak gEn F 9 18 g fean S At wen &

ST T T IR SES ST & | e 9 S |

(1) 86 £ T
(3) 68 4)  76.
The sum of the digits of a two-digit number is 14. If 18 is subtracted from the
num];ér, digits are reversed. Find the number. ' 4
(186 5 R
3) 68 - 4) 76.
44, T m fax A AB || EDTHBC || EFE, @ 24BC + £DEF H1HH €
Ay E 2 >
D

B C »
(1) 90° 2) 180°
(3) 120 (4) 360",

NTSE(I)/19-SAT-411-B [ P.T.O.



Tt & oz [——r
& e 221 ﬁé._t

: . Ut fe e ..L
SAT-2 s g (14) e = Al
e %{LffL-)
) In the given figure, AB | | ED and BC || EF, then the value of ZABC + ZDEF is
y F
. A >
H=h+ =1 3
i' -4
) My el St Sl (o] -
L y—
E,r. - Y ¢ 21 S i :H(bc—~cl—'d.-_b t+ac.
(&) i e =y c —her —~a¥radl
B e Be - C
T hy oo 2—180°
3 . BT L
(3 120 (4) 360 . (R el £
45. 100 fFeieiex o foe o7 9t 813 § 2 PN T
' B 1
1'-'
3 108 -Gl ot 2
SIS S T N L :
Cd i i How many cubic centimetres make 100 kilolitre ? FT:J = -
‘. (y: 10?0 2) 10°
+43r 108 (4) 106,
46. UH THFR g1 61 rEEl Ug, 9E] 95 9 10 AUE €, O 9 ° U8 7 B U§ & H=H
? ,\‘t y—2hth
W% 4 ﬁ— H’)D\-
(1) 15 2) 8 ) ’b['_'_“ﬁu"..
!
@) 6 @ 10 >
0 5th term of an A.P. is 10 more than its 3rd term. What is the difference of its 9th
G
Q,/nv,zoy and 6th terms ? SO Y
AT D @ine g
>3 ]l
e'\"b.,y’;,, (3) 6 TR el
o 47. T tanA =2 -1 8, STl A ThI0T €, T sinA . cos A T T &
¥ .
(1) 22 @ 2 o b7
st A2 |
T W = A o o T S
2\{5 ﬁ (0 = 2 ..l.

B

If tan A = Y2 — 1 where A is an acute angle then the value of sinA . cos A will be

Satl) <22 2 2 gjc_vlueaz =)
~ =
1 >6‘ ¥ 3 " £ rl @b
3 i v -4 -, s T

l—}/”zﬁ \?7 B (4) & W4+

ety ol g 1-%
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g u_a\"‘—z Hﬂtb-c.)\a-“ W)
ettar ¢ e q[‘b&__.&t_..b"-—’( b 2 crrav.

b =Uabs Qac —Yh—g-dfo

e T T e i i

e s b SAT-2 *
. ? gt /

48, 19 10 % Te7 F gl ISy GEASH FT PHBEA g A S
U0
ol 94 ‘ s Lt rat _ra8- Yo a2 :
(3) 210 (4) 1890. :
The multiplication of all prime numbers between 1 and 10 is \
1

(1 105 2) 945

@/’z’lﬁ _ (4)  1890.

49. AR (b-c)x2 +(c-a)x+(@-b)=0 & T aREree Ud §HHE AR I TIR

(1) 2b=a+c (2) 2a=b.+c @,,;\"’

(3) 2c=a+b (4) 2b=a-c.

If the roots of (b—c}x2+(c-a)x+(a-b]=0 are real and equal, then which of the T

following is true ? . D’%& bt ‘;"/f: gria--ianl= % x@@-ﬂ@(’ﬂ"%

(1) 2b=a+cy %} ' (20 2a=b+c CHqL‘ e 1%2#&“-

A})/2c=a+b b_ (4) 2b=a-c.

50. k%ﬁmm%i‘mwﬁﬁmqﬂx+y-4=o,2x+ky-3=oa?rﬁ%€'ﬁ=|ﬁ3’m?

(1. 0. @ 2 L e %_;_*J\_ .
ki et

13J56 (4) 8. Z  ath .

solution ? 20 ,
1 % %ﬁ o
(1) o 22 % S

1
;

3 6 4 8.
51. 4ﬁﬁwaﬁwgﬁﬂ%ﬁﬁ$ﬁﬁmﬁmgm$wﬂ,ﬁw
ferepot Y ovas ST A @R PRCENCN L f
(1) if— 2 3 S e |
(e |
i e fLomn ; i, |
N4 OUA Vi n__._“]:(_ﬁ'
3) 243 (4 43. Ms::wzcm' e 1ot !1
The length of the side of a rhombus is 4 cm. If one of the diagonals is equal to £ E
| 1.a<z:y>§“* e j

the side of rhombus, then the length of other diagonal in cm will be ;

o L @ V3 7
' 443.

(B3 (4)

NTSE(l)/ 19-SAT-411-B [ P.T.O.
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52.

53.

i

WO 17 ot e @ ey ¢ T &IF) L)
{8 @ 75 L A

3) 85 (4) 18.

The mean of first seventeen whole numbers is

(1) 8 2 75

3) 85 @4 18 -

5 WHT 9 A1 3 BT % UF B @ 1 S ST A 0 HRT A | 9

S T T T &her 41 g 2

(1) 150 ¥Hi2 (2) 149 §Hr2

(3) 151 §Hr2 (4) 147 92,

A cube of edge 1 cm is cut from a corner of a solid cube of edge 5 cm. What is the
total surface area of the solid remained ?

150 cm? (2) 149 cm?
{35151 cm? (4) 147 cm 2.

54. T58 T Tt § 9@ & ST ABERT SWh F% O W 90" HT HIV) SR fFaT AT L |

NTSE(I)/ 19-SAT-411-B

o I 54T 4 T ¥ | DTl W07 T SEwe B

. .q”/l//////llllr & .
(1) (47 -2) Ht2 (2)  4(x-2) HH2
(3) (z-8) §HI2 (4)  (n-2)9H@2,
In the given figure, chord AB subtends an angle 90" at centre O of the circle
having radius 4 cm. Area of the shaded region will be

(1) (47 -2) cm?
(3) (n-8) cm?2

v



(23 - SAT-2

55. et & fem §, AB = AC, ZBAC =40°, BES CD®IY: 4B & £C & %S & | AR

ZDOE =x, x® A &

o =}

(1) 140 (2) 70
@) 110° - 4 40 .
In the given figure, AB = AC, ZBAC =40°, BE and CD are angle bisectors of

/B and ZC respectively. If ZDOE = x , the value of x is
A

(1) 140°

@/110° @ 40"
56. & %1 I F07 60° ¥ 30° T W TF WHR FI OTET 10 WX Fg I & | HAR

Fars gnft '
(1) s5J3 2 5W3-1H Bw

(3) 5W3+1 @  3/5H | s yo = 10 F%
w 25

The shadow of a tower, when the angle of elevation of the sun is 30o is found to

be 10 metre longer than when it was 60" . The height of the tower will be
(17 5J3 m 2 5W3-1)m

‘ R
3 5W3+1)m 4) 3J5 m. e

NTSE(])/ 19-SAT-411-B A
%y— B ywwe (ot v



SAT-2 (18)

7.

58.

89.

60.

U Ul TF AR IV AN E | AR 4 F B G A ) W xR 4 @
a@é@naﬁﬁuﬁmy%ﬂh-y%
m 2 @. <
@ 2 @ 3
A die is thrown once. If the probability of getting a number less than 4 is x and
the probability of getting a number greater than 4 is y, then x -y is
o 3 _or Sy
@ 2 @ 3.
fog (3, 5) T x-3787 T y-3787 @ A 7 gl &1 g7 B
(&) =1 2) 0
By @ s
The sum of distances from x-axis and y-axis measured from the point ( 3, 5 ) will
be
1 S 2 O
3) 2 4~ 8.
?q’r"e" x2 +4y2 +922—4xy—12yz+6xz=0,7‘ﬁ
(1) x=2y-3z (2) x=Yy-3z
B)  2x=y -3z (4) x=3y-2z.
If x2 +4y? + 922 - 4xy - 12yz + 6xz = 0, then
W x=y2y—33 & ; (2) x=y-3z i kg s
j % ; i K~ ?.a.}'i‘ %=
B 2x=y-3z (4) x =3y -2z.
ft 3 @ -9 9 TS ABCD % AT 3@ € 2

(1) AB+BC+CD+DA>AC

(2) AB+ BC+ CD+ DA> AB+ AC

(3 AB+BC+CD+DA>AC+BD

(4) AB+BC+CD+ DA <2AC.

Which of the following statements is false for the quadrilateral ABCD ?
(1 AB+BC+CD+DA>AC

$° AB+ BC+ CD+ DA> AB+ AC

(3) AB+BC+CD+ DA >AC + BD

447~ AB + BC + CD + DA <2AC.

NTSE(I)/19-SAT-411-B



61.

(19) | SAT-2

( 3 )
( History )
el & gel-n1 § GAler sifow T Fithd $2 %1 A FRd g Fel IW A
TG HIT
gel-1 gei-11
(A) =™ M wg
(B) R (i) SR
() IFEA (i)  cAYTET
(D) TER (iv) U@ |
HT :
A B e o
(1) v i A
2 i 50 e
3) v e 8T iii
@) i TR TN

Match List-I with List-II and select the correct answer by chosing from the given
code :

List-I List-II
(A) Magadha (i) Mathura
(B) Kashi / (1) Varanasi
(C) Surasena Fis (i) Taxila
(D) Gandhara (iv)  Rajgriha.
Code : :
A B C D

(1) v i i i
(2) i i iti iv

@y v Gt iii
4) 1 iii iv i

62, TR Rt w1 Troenoe Frer @ @ @ g gan 2

(1) TEE g
@ T

(2)

(4)

d g1 |

In which of the following forts was the coronation of Chhatrapati Shivaji held ?

(1) Raygarh Fort

(3) Pune Fort

NTSE(I)/19-SAT-411-B

(4)

2/ Kumbhalgarh Fort

Surat Fort.

[ P.T.O.



SAT-2 . (20)

63. ‘3Mma WRA' % s o

(1) SRR &g (2) AT R TER

(3)  TRTHT Myt (4) ToATEE TMERT GEER |

The founder of 'Abhinav Bharat' was

(1) Chandrashekhar Azad (2) Vasudev Hari Chapekar

(3) Mahatma Gandhi _(4y Vinayak Damodar Savarkar.
64. X WH H IFaHR foma fomar 2

(1) & &L 2 =g amEREe

(3) - et (4) Sy |

Who discovered the water frame ?

(1)  Henry Cort M Richard Archrite

(3) James Bridali (4" Jethrotal.
65. WRd BIE A< HI Fd Hd qiia & 7 2
(1) 8 3T, 1942 (2) 8 37T, 1941
(3) 8 3T, 1940 (4) 15 37T, 1942.
When was the Quit India Movement proposal passed ?
(E/ 8th August, 1942 (2) 8th August, 1941
(3) 8th August, 1940 (4) 15th August, 1942.
66. HRA T T8 U &1 HIGAT (T &, &
(1) 99" 2) TS
(@) TR (4) T R FEN

The state of India, where the Kalibanga is situated, is

(1) Punjab 2y Rajasthan

(3) Gujarat 4) Jammu & Kashmir.
67. et Wefum &

(1) g A 2 oREFEIIAAE

(3) SEAHSH 39 A 4) SAWAY |

Triratna is related to

(1) Buddhist philosophy (2) edic philosophy

(3) Islamic philosophy Jain philosophy.

NTSE(I)/19-SAT-411-B



68.

69.

70,

¢ 1.

(21) SAT-2

=0T =T Y A9 T E ?

(1) Helrewr 2)  gEerE

(3) fergaH . (4)  FUSHRE |
Whait/‘is the modern name of Champa ?

(¥~ Malaysia (2) Thailand
(3) Vietnam (4) Indonesia.
e forgail T P T -

(31) ST THEREA TG A Herhtdl § a8l hiets i ST i |
(@) @ FeEEg 7 T TEHRT ) & = @

9 & T Fe | W IW A TEgF W
1) () 3R () M e

(2) ae ()

(3) et () WEl

(4) (30 3R (@) A T |

Consider the following points :

(A) Raja Rammohan Roy established Vedanta College in calcutta.

(B) Swami Vivekananda wrote a book named Satyartha Prakash. w
Choose the correct answer from the codes given below :

(1) Both (A) and (B) are correct

(2) Only (A) is correct

(3) Only (B) is correct

jﬂ;/ Both (A) and (B) are wrong.

1017 %o F H F Hilq % THE TF H1 IHH H 41 ?

(1) R fhiera ugd @ o 4at

(3) ¥R feriere g (4) % 168 |

Who was the king of Russia at the time of the Russian revolution of 1917 ?
(1) Czar Nicholas First (2) Louis 14th
(38}~ Czar Nicholas Second (4)  Louis 16th.

feg ez &1 wFRT B 91 2

(1) et TR faes 2) TEFT Gl

(3) STl S TF (4)  eitwds gEst |

Who was the publisher of Hindu Patriot ?
(1) Bal Gangadhar Tilak _{2r” Dayanand Saraswati
(3) Lala Lajpat Rai (4) Harishchandra Mukherjee.

NTSE(I)/19-SAT-411-B [ P.T.O.
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12,

73.

74.

75.

( ypmrer )
( Geography )
frefeifea & & -9t v < gt 7t dem W vaka w6 B 2 o
(1) (2) TRER
(3) HET 4) HER |
Which one of the following rivers does not flow on the eastern coastal'plain ?
(1) Krishna (2) Godavari
,{8‘)/' Narmada (4) Kaveri.

TTIH | JoeTe o fasiiferar & d9 & U8R & S7ET 96T &

(1) ¥RE (2) FUHA

(3)  HIETE (4) TFEEET |

The plateau between Bhainsrorgarh and Bijauliya in Rajasthan is known as
i (1) Bhorat (2) Uparmaal

)~ Malwa ' (4) Royalseema.

frfefaa § 9 SF-9 u 39 gier 7@ & 2

(1) Taer (2) geiRe

(3) FHEE (4) T |

Which one of the following is not a Lagoon lake ?

(1)  Chilika (2) Pulicat

(3)  Kolleru {4 Dal.

ARG AT foymT & SFER 9T Fq & gEaEy €
(1) ¥ fgasR ¥ 99 o=y a%

2) RER q W T

(3) T ¥ T 5 d%

(4) T SE ¥ a9 fgaer T |

The duration of summer season according to Indian Meteorological Department is
(1) mid-September to mid-December
(2) December to February

J})/ March to mid-June

(4) mid-June to mid-September.

NTSE(I)/19-SAT-411-B
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76. mﬁwwww%mﬁﬁﬁﬁmﬁﬁﬁmw%?
(1) STUR (2) SR
(3) STEW (4) AR |

In which district of Rajasthan is Amrita Devi Black Deer Sanctuary developed ?

Mdhpur ()  Bikaner

(3) Barmer (4)  Ganganagar.

2, w.muﬁmam@mr@aﬁﬁwﬁdﬂ%
(1) HTEel A GREs (2) @ ST AR aREE
(@) e uEuEsE (4 §ER FER GRS |

The joint project of Gujarat, Madhya Pradesh and Rajasthan states is
(1) Bhakhra Nangal Project (2) Mahi Bajaj Sagar Project
NE o Chambal Valley Project (4) Sardar Sarovar Project.
78. qﬁ-lﬁ@-xlﬁ@mﬁm@ﬁﬁaﬁfammm@wﬁw
TG I

-1 -1

( et ) (¥t )
(A) 3R ()  HER R
(B) < @) T AR
) (i)  FAeerE
D) T (iv) RS WR |
'tﬁz :

A B LEvD

(1) () @ v @

2) [ (v) (@ . ()
@ O (@) @) @)
4 () (i) (i)

NTSE(I)/19-SAT-411-B [ P.T.O.
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Match List-I with List-II and select the correct answer using codes given below :

List-I : List-1I
(District) (Lake)
(A) Ajmer . (i) Sardar Samand
(B) Tonk (ii) Ana Sagar
(C) Pali (il  Navalakha
(D) Bundi (iv)  Tordi Sagar.
Code :
A B P
(1) (i) (i1) (iv) (i)
-2y (1) ) () (1)
3) @ (@) (i) (i)
(4) (iv) (1) (i) (i)
79. WHRTEE WIE-379%h § oileiel i wiawrd e &
(1) 40 - 50% (2) 50-60%
(3) 60-70% (4) 70-80%.
The percentage of iron content in magpetite iron-ore is
(1) 40 -50% 50-60%
60-70% (4) 70-80%.
80. fi=feiEa o & -3t ws o™ @i @i TR E 2
(1) foeme @
(3) Framer (4) AR |
Which one of the following is cement city of Rajasthan ?
* (1)  Chittorgarh : . (2) Bundi
(3) Nimbahera ,&4‘( Nagaur.
81. TTEIH H 2001-2011 % IR FAGH UG g g AN fofem &
(1) AFR (2 ¥®R
(3) Hicremer | 4) TR |
The district having lowest population growth rate in Rajasthan during 2001-2011
1S
(1) Nagaur {2y~ Bikaner
(3) Bhilwara (4) Ganganagar.
82. YR et gRT ‘g e wistae’ wwey Rear
(1) 19827%H 2) 1992H
(3) 2002H 4) 20127 |
'Uni Gauge Project' by Indian Railway was started in
1982 AT 1992
(3) 2002 4) 2012.

NTSE(I)/19-SAT-411-B



83.

84.

85.

86.

(25) SAT-2

(Tt famr )
( Political Science )

FATH H WegeT o foR 3 H 9rEl S g 2
(1) el (2) SHH
(3) feeseive (4) ¥R |
In which country is direct democracy found ?
(1) Italy . (@) Japan
(3) Switzerland 4~ India.
g @y 4ag &1 FRETH 7 & T 8 3W §Y HARY ART A H AUHR fohweht
W ? |
(1) WEr A @ el
(3) WEHTE | (4) AT 3TEHE |
Who has the right to promulgate an ordinance when the Parliament is not in
session ? :
)J/Supreme Court JU¥Y President
Prime Minister (4) Lok Sabha Speaker.
v:mmm foree! TTE Ydw 39 9% W o1 @l & 2
(1) EEEE ) T
(@) gl (4) ST |
From whose pleasure does the governor hold office ?
(1) Prime Minister (2) Chief Minister
(3y~ President (4)  Vice-President.
w‘i'?xmmmw:’mmﬂﬂ aAfueran fhee @Y &I 3 T 9 95 O ST T& Fehdl

27
(1) 623 2) 6598
(3) 60°N (4) 7099 |

What is the maximum age of retirement for judges of Supreme Court ?

(1) 62 years (2 65 years

(3) 60 years (4) 70 years.

NTSE(I)/19-SAT-411-B [ .10
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87. YRd & LU HT HAH el &
(1) 4o 2) 5§
(3) 29§ (4) 3a9

The term of the President of India is

(1) 4 years /(2]/ 5 years

(8) 2years (4) 3 years

8g. [ohw fe7 wRdta wiewr =1 aitfigpa fopar a2
(1) 15 37T, 1947 2) o few=r, 1946
(3) 26 SR, 1950 (4) 26 TIEKR, 1949,

On which day was the Constitution of India adopted ?

(1)  15th August, 1947 (2) 9th December, 1946

(3) 26th January, 1950 __(4—26th November, 1949.
89. WRA ¥ forw Hifeis sfusR & sF=ria SR #9 W Ak o W € 2

(1) SHFC & YRR (2) AT F AUHR

(3) TISOT & faeg HfUsHR (4) 99 F WA HT SUFR |
Forced labour is prohibited in which Fundamental Right of India ?
(1) Right to equality (2) Right to freedom

(37" Right against Explotation (4)  Right to Freedom of Religion.
90. HH ¥ dfaur WeNE FRT AFRG & H@ FHeAl wl 9RaE deuE § @ g

™ ?
(1) 429 @ 409
(3) 43¢ 4 457 |

By which constitutional amendment Fundﬁmental Duties are added in the
Constitution of India ?

J1 42 nd " (2) 40th
(3) 43rd (4)  45th.

NTSE(I)/19-SAT-411-B
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91. TAHF W TR N UHHE B! SIS i YA Fal W H T2 & ?

(1) FERER (2) AR
(3) feriem (4) ST |
Where is the only Cantonment Board established in Rajasthan at present ?
~_(1}>— Nasirabad (2) Jaipur
(3) Chittorgarh (4) Jodhpur.
92. Uit [ ¥ W e & ?
(1) g A 2) WA
(3) T WA @) gl
Panchsheel is based on which philosophy ?
_(1) Buddhist philosophy (2)  Jain philosophy
(3) Islamic philosophy (4) Hindu philosophy.

93. ell-I ! Felt-I1 ¥ FHloTd Tl g¢ Tl FZ HT a4 HilTy
T -1 - gEtn

(4) TR G oo e
(B) forem afeeg ) e

(©) UamEd g (i) GOd

(D) UM 9T (iv) HEMR |
Code :

A B L & D
(1) @ @) o (E) (W)
(2) (i) (1) (1 ()
(3) (iv) () (@) ()
(4) (iv) () (i) (i)
Match List-I with List-II and choose the correct code from the given code :
List-I List-II :
(A) Nagar Nigam (1) Zilla Pramukh
(B)  Zilla Parishad T R Gl U
(C) Panchayat Samiti iiij)  Sarpanch
(D) Gram Panchayat ‘“’Mf—ﬁir] Mayor (Mahapoura)
‘Code :
A B C D
(1) (1) (ii) (iii)  (iv)
(2) (i) (i) (i)  (iv)
(3) (iv) () @) @)

@y ) @ 6 ().

NTSE(I)/ 19-SAT-411-B [ P.T.O.
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( sretvmex )
( Economics )
94, HHISTAE! FIERYT el L &
(1) SHH 2 °@=
(3) WrH (4) Hg® ST AR |

The nation of socialist economy is

AT~ Japan (2)  China

(3) France , (4) United States of America.
95. WIF Fl HEA &

(1 e @

(3) HFRI il A

The Kharif crop is

(1) heat ,&ﬁ/ Barley

Maize (4) Gram.

96. SRl T I &

(1) e Fee 2 §nE e

(3)  JHfaw FuEmEr (4) @I @l FHIE WhR & |

The function of commercial banks is

(1) Issue of currency . (2) Credit control

(3) Lender of last resort ‘-{4)//Acceptance of people's deposits.

97. wid =afw 39 9 FH H g7 &
(1) Hﬁmﬁﬁm=M 2) ¥ia=fE Ig-=-

ST U A
(3) ‘ﬂﬁlﬁqﬁﬁm:w——f— 4) - qﬁ{aﬁﬁamq:m]
TG FHel ITHA

The formula of measuring per capita income is

/(1')/ Per capita income = Nationalincome
Population

Population
National income
Total consumption

Population
Population
Total consumption '

(2) Per capita income =

(3) Per capita income =

(4) Per capita income =

NTSE(I)/19-SAT-411-B



98. YRAY refeHer & fouiwar &
(1) 3T Ft FHHaAT

(3) SRISTIRI T 9

(29)

(2)

(4)

The characteristic of Indian economy is

(1) Equality of income

(3) Lack of unemployement ‘_,{4‘)/, Low per capita income.

(2)

RIS %1 H9E

f=1 wfa =afe sm |

Lack of poverty

99. YR H TR HIGH FT TIT WA fHEE gRT *Rar T 2

(1) TS AR
(3) Wio e

(2)

(4)

Blo o TFHSTET

Hio & |

In India the first effort to measure poverty was done by

__,(«l’)/l:)—adabhai Naoroji

(3) Prof. Robbins

100. YR H I9HRHT feaq M@ Sam &

(1) 2 RN
(3) 24 =R

(2)

(4)

(2)

(4)

D.T. Lakdawala

Prof. Keynes.

15 AR

26 FER] |

In India the Consumer Day is celebrated on

(1) 2nd October

«__(8)~"24th December

NTSE(I)/19-SAT-411-B

(2)

(4)

15th August

26th January.

SAT-2
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SPACE FOR ROUGH WORK / ¥% & & fow se

- als = Yle-¢) La-b)
(At =la. = M[db-—ﬂtc..-— BE b b
ARttt | o Ulob + bz dan e
¥ 2 ab o -WL —yp

@Hﬂ’)l’ = U Lb-_Ye—anw
(el S - a UbL b — 2>
ar=h-. & (L tlac = Ubt — e — Yab —aL

tl)‘-’uut—:rb =
(-t —u-X(achb) =
AL —dac = U ba —Uoae — U~ F Wbz
P A e s el 7 S TR :

e

(¢4 2 Wik Cotdea-b)
z U (ab—ae —b-4+be]l

te riar whiga e fal, ~ wao Mt + Lhke

cLg trace 2 SAL-Ube L uab
L bz
(L¥rae —UbE ""—”"&&"""a)l— T = 3| Y4 lee

= d[__,_.-——-
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SPACE FOR ROUGH WORK / T®% &1 & forw s
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